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При выполнении заданий с кратким ответом впишите в поле для ответа цифру,
которая соответствует номеру правильного ответа, или число, слово,
последовательность букв (слов) или цифр. Ответ следует записывать без
пробелов и каких-либо дополнительных символов. Так как на экзамене
распознавание апострофа в бланках ответов будет затруднено, записывайте ответ
в полной форме, например: donotknow, вместо don'tknow.

В заданиях, где нужно установить соответствие между двумя столбцами, ответ
запишите в виде сочетания букв и цифр, соблюдая алфавитную
последовательность букв левого столбца. Некоторые данные правого столбца
могут использоваться несколько раз или не использоваться вообще. Например:
А1Б1B4Г2.

Если вариант задан учителем, вы можете вписать или загрузить в систему ответы
к заданиям с развернутым ответом. Учитель увидит результаты выполнения
заданий с кратким ответом и сможет оценить загруженные ответы к заданиям с
развернутым ответом. Выставленные учителем баллы отобразятся в вашей
статистике.

1.  Выберите реплику-стимул, подходящую по смыслу к предложенной ответ-
ной реплике.
 

Look out!
1) Не told me to look out of the window. 2) The ceiling here is so low.

3) He has to go to hospital. 4) It looks like rain.

2.  Расположите реплики так, чтобы получился связный диалог. Выберите
один из предложенных вариантов ответа.
 

A)  Great. Let's do that.
B)  OK, how about we ask people for some photos of themselves with Maria, and

maybe ask them to include a personal message too?
C)  You know Maria’s moving to another city next month, don’t you? Some of us

were thinking about buying her a present.
D)    Yes, OK. That would be a really nice present. I’ll start contacting Maria’s

friends. And maybe you can check out ideas online.
E)  Like a leaving present? That’s a good idea. We should get her something that

reminds her of all her friends here. But I’ve no idea what.
F)  And we could collect them all and put them together to make a scrapbook.

1) AEBFDC 2) CEBFDA 3) EDAFBC 4) CAFBDE
5) EBDAFC

I think the computer is such (1) ... useful invention. Take e-mail, for example. It is
a very easy way to write letters. When I was younger, I rarely ever put pen to  (2)  ...
paper, not even to say 'thank you' for presents sent by my relatives. Now, though, you
can't keep me away  (3)  ... the keyboard. I can spend hours typing away  (4)  ... my
computer, all types of messages to all types of people. One of  (5)  ... worst
disadvantages for me of writing (6) ... hand was always the embarrassment of knowing
that people would criticise my untidy handwriting and careless spelling. Now
thanks (7) ... the spell-check, I can easily edit my letters. Teenagers nowadays take all
this (8) ... granted, they don't realise how fortunate they are.

3.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (1).

1) а 2) an 3) the 4) -

4.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (2).

1) a 2) an 3) the 4) -

5.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (3).

1) from 2) of 3) off 4) -
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6.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (4).

1) at 2) on 3) with 4) in

7.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (5).

1) а 2) an 3) the 4) -

8.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (6).

1) by 2) in 3) at 4) with

9.  Прочитайте текст. Выберите один из предложенных вариантов ответа. За-
полните пропуск (8).

1) at 2) by 3) for 4) on

If someone asks you what the best way of travelling from London to Paris is, you
could suggest flying, taking the ferry or going through the Channel Tunnel. The
"Chunnel," as it is known, opened in 1994, and more than 200 million people (1) ... it.
Since 2000, pets have also been able to travel. So how did one of the wonders of
modern engineering come about? The first plan to connect mainland Britain with
France via a tunnel  (2)  ... in 1802 by a French engineer. He wanted horse-drawn
carriages to carry people through. Napoleon III later considered a tunnel, but thought it
was too expensive. He was right   — the modern "Chunnel" creators overspent by 80
per cent. The tunnels (two for trains and one for maintenance) (3) ... six years to build
and are 50,5 km long. High-speed trains (4) ... since 2007. It (5) ... 35 minutes to travel
the length of the Channel Tunnel. On a cheerier note, around 12 million roses  (6)  ...
through the tunnel every year for Valentine’s Day.

10.  Какое слово (словосочетание) пропущено на позиции (1)?
1) had used 2) were used 3) were using 4) are used

5) have used

11.  Какое слово (словосочетание) пропущено на позиции (3)?
1) were taken 2) took 3) take 4) have been taking

5) are taking

12.  Какое слово (словосочетание) пропущено на позиции (4)?
1) ran 2) are run 3) are running 4) have been running

5) had run

13.  Какое слово (словосочетание) пропущено на позиции (5)?
1) was taking 2) has been taking 3) is taken 4) will be taken

5) takes

14.  Какое слово (словосочетание) пропущено на позиции (6)?
1) deliver 2) have delivered 3) are delivering 4) are delivered

5) will deliver
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§1. In 2004, Pen Hadow became the first person to trek to the North Pole alone.
That meant swimming through unimaginably cold waters, fighting frostbite and risking
encounters with polar bears. Just eight months later, he made a similar trip to the South
Pole. Now he is back in the Arctic again, preparing for an expedition he says is
somewhat of a different kind. This time there is far more at stake. Pen and two
colleagues will set out on a three-month, 1,000-kilometre trek to the North Pole, taking
detailed measurements of the thickness and density of the ice. Nobody has ever done
this before, and he knows the results will be of vital importance to the scientific
community. This will be the truest picture yet of what global warming is doing to the
ice that covers the polar region.

§ 2. Pen and his wife live in the country with their two children. 'They were one
and five when I last went, and I made a mistake in the way I said goodbye. I thought it
would be a good idea to say to my son, "You’re the man of the house now, look after
your mum and your sister." He absolutely took it to heart, asking his mum how she was
all the time, but the strain eventually became too much. While it was well intentioned,
it was an unfair thing to do'. For similar reasons he is planning to have very little
contact with them while in the Arctic. 'If you call them, you remind them how far away
you are'.

§ 3. He is spending these last days before departure preparing his kit "Out on the
ice, one is virtually incapable of mending things," he says. With him will be Ann
Daniels, one of the world’s leading polar explorers, and the expedition photographer,
Martin Hartley. They will be supported by a crew of six, flying in supplies. Being part
of a team is actually more stressful to someone with his mentality, says Pen, and
something else is on his mind top. "I'm going to be 47 on Thursday. I’ve done far less
training than I’m comfortable with." Why? "Organisational things always seem more
urgent. So I’m almost fearful of what I'm going to ask of myself."

§ 4. Pen believes his mission reconnects exploration with the search for knowledge
that drove previous generations into the unknown. "Making it to the North Pole was
ultimately a personal ambition," he admits, "and of limited value to anyone beyond the
polar adventuring community. This time, scientists will profit from the data, and we’re
creating a platform in which to engage as many people as possible in what’s happening
in the Arctic Ocean."

15.  Выберите один из предложенных вариантов ответа в соответствии с со-
держанием приведенного выше текста.
 

In paragraph 1, what do we learn about Pen Hadow’s opinion of the new
expedition?

1) He thinks it may be harder than his previous journeys
2) He is aware of the huge significance of its aims

3) He is looking forward to the scientific work it will involve

16.  Выберите один из предложенных вариантов ответа в соответствии с со-
держанием приведенного выше текста.
 

When talking about leaving his children for long periods, Pen mentions feeling
1) guilty that he once added to the pressure caused by his absence

2) sad that he is missing so much of their growing up
3) sorry that he can’t telephone more often

17.  Выберите один из предложенных вариантов ответа в соответствии с со-
держанием приведенного выше текста.
 

What is worrying Pen about the new expedition?
1) whether the equipment will work properly in icy conditions

2) whether he will be mentally prepared
3) whether he will still be fit enough to take part

18.  Определите значение указанного слова в тексте: eventually (§ 2).
1) suddenly 2) finally 3) occasionally

19.  Прочитайте текст. Выпишите по два лишних слова в порядке их предъяв-
ления в тексте.
 

I spend about half of my time in my office, and the other half in court. I don't have
customers. I have clients. They come to me with legal problems and I represent them.
It's a so very demanding job, because you feel it responsible for what happens to your
clients, but it is also very satisfying.
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20.  Переведите на английский язык фрагмент предложения, данный в скоб-
ках.
 

A week seldom passed without a request for assessment, (не так ли)?

21.  Переведите на английский язык фрагмент предложения, данный в скоб-
ках.
 

Using someone (другого) personal information and pretending to be them is a
form of identity theft.

The New Zealanders Dwayne van der Sluis and Andrew Akers must be the
happiest people on Earth now that their (1) ... and latest craze, zorbing, has become a
success. Zorbing involves standing in a ball  — or zorb  — which consists of specially
hardened plastic. The zorb is rolled down a hill, speeding at about 50 kilometres an
hour. It may sound like quite a (2) ... pastime, but the 70 centimetres of air between you
and the ground make it  (3)  ... to get hurt. That's why zorbing didn't take long to gain
in (4) ... .

22.  Прочитайте текст. Выберите подходящее по смыслу слово из предложен-
ных. B ответ запишите слово в той форме, в которой оно должно стоять в предло-
жении. Помните, что каждое слово может быть использовано только один раз и
что заданную форму слова необходимо изменить. Заполните пропуск (1).
 

POPULAR, RISK, POSSIBLE, INVENT

23.  Прочитайте текст. Выберите подходящее по смыслу слово из предложен-
ных. B ответ запишите слово в той форме, в которой оно должно стоять в предло-
жении. Помните, что каждое слово может быть использовано только один раз и
что заданную форму слова необходимо изменить. Заполните пропуск (2).
 

POPULAR, RISK, POSSIBLE, INVENT

24.  Прочитайте текст. Выберите подходящее по смыслу слово из предложен-
ных. B ответ запишите слово в той форме, в которой оно должно стоять в предло-
жении. Помните, что каждое слово может быть использовано только один раз и
что заданную форму слова необходимо изменить. Заполните пропуск (3).
 

POPULAR, RISK, POSSIBLE, INVENT

25.  Прочитайте текст. Выберите подходящее по смыслу слово из предложен-
ных. B ответ запишите слово в той форме, в которой оно должно стоять в предло-
жении. Помните, что каждое слово может быть использовано только один раз и
что заданную форму слова необходимо изменить. Заполните пропуск (4).
 

POPULAR, RISK, POSSIBLE, INVENT

I hope Jim and Sarah will have a happy marriage. However, I am sure (1) ... wife
nor family will ever separate Jim and his music. It is obvious that the guitar will
accompany them on their honeymoon. Jim hopes to  (2)  ... to an agreement with a
recording company. Perhaps one day a CD of his work will (3) ... released.

26.  Прочитайте текст. Заполните пропуск (1) только одним словом, подходя-
щим по смыслу. Слово должно содержать не более 15 символов.

27.  Прочитайте текст. Заполните пропуск (2) только одним словом, подходя-
щим по смыслу. Слово должно содержать не более 15 символов.

28.  Прочитайте текст. Заполните пропуск (3) только одним словом, подходя-
щим по смыслу. Слово должно содержать не более 15 символов.

1.  She described the whole play to us ... detail.
2.  Both my sons are crazy ... old motorbikes.
3.  The restaurant prides itself ... having the best pizza in town.
4.  There are so ... lemons in the fridge that I can't make lemonade.
5.  ... Susan use to be slim when she was at university?
6.   Bob Dylan ... original name was Robert Zimmerman won the Nobel Prize in

Literature in 2016.
29.  Прочитайте предложение (1). Заполните пропуск ОДНИМ словом, подхо-

дящим по смыслу. Слово должно содержать не более 15 символов.
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30.  Прочитайте предложение (2). Заполните каждый из пропусков только
ОДНИМ словом, подходящим по смыслу. Слово должно содержать не более 15
символов.

31.  Прочитайте предложение (3). Заполните каждый из пропусков только
ОДНИМ словом, подходящим по смыслу. Слово должно содержать не более 15
символов.

32.  Прочитайте предложение  (4). Заполните каждый из пропусков только
ОДНИМ словом, подходящим по смыслу. Слово должно содержать не более 15
символов.

1.    The tallest trees in the world are called redwoods and they have grow in
California. These

2.    trees which can reach heights of around 91 metres. Among the enormous
redwoods,

3.   one other giant tree beats them all. This tree was discovered and measured in
2006.

4.  The National Park Service then announced itself that at 115.7 metres, it was the
tallest

5.    tree in the world. Now it is so enough famous that it even has a name,
‘Hyperion’.

6.  In California there are every other giant redwoods which are just a little shorter
than

7.    Hyperion. The exact location of many of these enormous trees is been kept
secret to

8.  prevent them from being damaged. A typical redwood tree may lives for 500 to
700 years.

9.  The National Park Service says that the redwoods’ great height it is mainly due
to the

10.    climate in California; there is many heavy rain every year and the
temperatures are mild.

33.  Прочитайте текст. Из строки (1) выпишите ОДНО лишнее слово.

34.  Прочитайте текст. Из строки (2) выпишите ОДНО лишнее слово.

35.  Прочитайте текст. Из строки (3) выпишите ОДНО лишнее слово.

36.  Прочитайте текст. Из строки (4) выпишите ОДНО лишнее слово.

37.  Прочитайте текст. Из строки (5) выпишите ОДНО лишнее слово.

38.  Прочитайте текст. Из строки (6) выпишите ОДНО лишнее слово.

39.  Прочитайте текст. Из строки (9) выпишите ОДНО лишнее слово.

40.  Прочитайте текст. Из строки (10) выпишите ОДНО лишнее слово.


